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Section 5.4 — Review of Sum and Difference Formulas

sin(9+|3)= sinBcosB+cosBsin B w
sin(B—B)=sinOcosB—cosesinB
cos(9+|3)= cosOcosP—sinBsinf
cos(B—B)=cosBcosB+sinGsinB

tan(B+B)= tan9+tanf
1-tanBtanpf

tan® - tan}

b t(8=8)= 1 tanbtans

J

Find the EXACT value of the following using sum and difference formulas:

D sin(15°) 2) tan(75°)
=5in(#5"-50°) e = fam(45"+ %" ) 2
=SS 0530 - (G Z 1N D0 = faniS % = g
® 5 B3 |=rwnigttam% |~ \';

s = :_ﬂi. % -fﬂ?%ﬁ
= s =

{ 5 503 r%’!"""
S Wi%+% (/j ;u'( %

'

9-%
3) cos(195°) o ’CU‘;{IQ') 4) sin (11::) éir‘*.’:ﬁ:' ) “
= '60’7(45" "%’) =G~y )
- 7&};'44{&730 #o] f.Jf “N'fi?.) ) L:
O W
r 2 + *
N TR

=
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Section 5.4 — Review of Sum and Difference Formulas 2 \\
A’

5) tan (23”) _) g F 6) cos(llg—:) - Cpc',']g - CO&(W?” ;0')

= Ao (1 — CosUS cos B’ - GintiS S B’
"‘)a»n(\'s 30) = ‘E’“ rj- Fz &
hz.n‘*"?’h”?ﬂ )
1t tand ,\ \ﬁ J’:h
=-1-8 . V1% %
\ir\-ﬁg z ﬁi’?

Vori\(5-3) 279

A
Write as sine, cosine, or tangent of an angle. After writing as a single function, find the valu{\ é‘ vafb)& -/

tan35°+tan10° _

-

g) 1an68°—tnlls® b ('és/w‘r’) e Lﬁ‘)

1+tan68°tan115°

b

9) sin(72)cos(12)—cos(72)sin12) = Sin bo’ = %

'\)

10) cos15°cos120°—sin15°sin120° ;»(ﬁ{jg,(!’g‘;") o ,J/}‘

—y

f.
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Section 5.4 — Review of Sum and Difference Formulas

;1) 1an(100)+ tan(20)
1-tan(100) tan(20)

c‘i‘dm(wo-%io)ﬂ' Yan )10 = ~tenbd = A

# .

& - -~ 2
12) 5in90°c0s45°—cos90°sin 45° = SIY)(CIU‘L'SD Z SMYS = =,

13) cos(94°)cos(18°)+sin(o4)sin(157) = Co5 (W -17) = o5 T4

-~

14) Find the EXACT value of the trig function given that

sinu=— cosv
17

|15
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% and both angles are in Quadrant [V

14
’\‘\?’ T
e 3
b) cos(u+v)
= CooM Lo =S\ NS IV
- c 4 . =% .72
= g 4 - =% Z
)7 -}‘ /’\\\
) . ’/ , X
- i ’ ., F| S
v 74 &y ,,
95 ¥7 72
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Section 5.4 - Review of Sum and Difference Formulas
15

J@Find the exact value of the trig function given that

sinu= 3 and cosv=l:3— where both u and v are in Quadrant II1.

- “ 5] ':__
2 -2
\
a) sin(u—v)

_ Sinutosy ~ (954 sV

b) cos(u - v)

= (VU Loey +4n U Sin ¥V

5 19 s 3
v T\l
c) tan(u+v)
tomy 4—‘]’am\/ “
| = tomu famV
44
-4 85 . @2 - p
sz g0~k ot
-4z _—
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Section 5.4 — Review of Sum and Difference Formulas

16) Solve the following equations in the domain [0, 27)

a) 2(sin2xcosx+cos2xsinx) = 2

: _ 7 AR
51‘0(17(-?%) i -% = 9= % A_%X - %
| LI

sin By = T 12T 2T
U= %x e —— = ) L9 e

S W = % /
-1 5T

P R
b) 2cos2xcos3x—2sin2xsin3x—I < | A—
Ness(ae)) =) b
(os g?\ o &
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